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Name: Datum: Ergebnis:
1 I 1 3
—+40+10= — X —— —=
3 2 2 4
1 1
- +12+4= 64+-8— ==
4 2
1 1 3 I 3 1
_ X _-— - = —_F — X — =
2 2 2 5 2 2
1 1 1 I 1 2
—_— — X = = _ X —_-F - =
4 2 6 3 2 5

2 3
R+T7+=-= 1010+ = =
5 5
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Name: Datum: Ergebnis:
1 13 1 I 1 3 1
—+40+10= — =4- =X == == (—=
3 3 3 2 2 4 (2)

1 13 1 I 15 1
-+12+4=— =3- 8= ===
4 4 34 648 2 2 72
I 1 3 5 1 I 3 1 19
x5 5= =01 S Sxs= o
2 2 2 4 4 5 2 2 2
1 1 1 1 I 1 2 17
—_— e X — = _ X -t - = —
4 2 6 6 3 2 5 30
2 32 2 3 58 3
R+T+=-=—=06- [1I0+10+ -= — =11=
! 5 5 65 010 5 5 5
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